                                              MATH 103 Final Exam Review Key                   

SU’11               
Please note—only the final answers are provided here.  However, you will be required to show ALL WORK on the final exam (where appropriate.)  

1.   a)   Answers will vary…use any x-coordinate except 1, 3, or 5.  The y-coordinate can be anything.

b) Answers will vary…the x-coordinate must be a 1, 3, or 5.  The y-coordinate can be anything as long as the ordered pair you write is not already in the list.

2.   a)   domain = all real numbers  OR  
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            function (justification based on definition will vary)

      b)   domain =   [– 2, 4]

             range =  [1, 5]

             not a function (justification based on definition will vary)

      c)   domain = (– ∞, 6]

            range =  [– 4, ∞)

            function (justification based on definition will vary)

3.   domain  =  all real numbers  OR  (– ∞, ∞)

      range  =  [– 3, ∞) 

      function (explanation will vary)

4.   a)   0       b)   – 45
    c)   –23.5625 

5.  
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 =  –217.84375
6.   a)   0       b)   –3       c)   0       d)    3       e)    –3, 1, and 5

7.   a)   0.65       b)   0       
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8.  solution = (–2, –7) 

9.   
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10.   a)   (8, 3)     b)   
[image: image5.wmf](

)

5

1

63

,


11.  Lines that intersect exactly once; one solution

       Lines that are parallel; no solution

       Lines that coincide; infinitely many solutions
12.  a)   Both variables cancel out and the resulting numerical equation is false. 

b) Both variables cancel out and the resulting numerical equation is true.
13.  Answer:  20 liters of the 10% solution and 30 liters of the 60% solution

if x = the number of liters of 10% solution and y = the number of liters of 60% solution, then system of equations is 
[image: image6.wmf](

)

xy50

.10x.60y.4050

+=

ì

ï

í

+=

ï

î

 
14.  Answer:  15 sledge hammers and 27 claw hammers


if x = the number of sledge hammers and y = the number of claw hammers, then the system of equations is 
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15.  Answer:  200 miles is the daily mileage at which the Budget charge for the day is the same as the Hertz charge if x = the number of daily miles, H(x) = Hertz’s daily charge, and B(x) = Budget’s daily charge then the functions are:   H(x) = 50 + .10x,  B(x) = 20 + .25x   

And the equation to solve is:  50 + .10x = 20 + .25x

16.   a)   5
b)  
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20.  7x + 5
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26.   a)  
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27.   a)  x = 0, x = 
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        b)  x = 
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 c)  x = 
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d)  x = 0, x = 3, 
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28.  4 seconds

29.   9 cm. and 12 cm.

30.   a)   undefined when  x = 4

b)  undefined when 
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        c)   undefined when  x = -2, x = 5        d)   defined for all x
31.
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